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Question 1.(48%) Circle the correct answer:
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(10) Let s(t) = 3 — 12> 4- 45t 4 2 be the position of an object moving in a straight
line then .
@: he object is at rest when ¢ =5 only. ~ 1“%1 o
when 3 < t < 5, the object is moving forward. LA A :;é:\
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(11) To shift the graph of f two units up and to compress it horizontally by a factor
of 2 and then shift it one unit to the left, we use the hinction (DY
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(13) Let f(z) =<4 ax+b , 1<z <3
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The values of a and b that make the function continuous on the interval [0,4)
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are
(a) a=0,0=1
(b)a = 5,b= -3
() a=-2b=2 [
(d) There are no values. i
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(14) Consider the functlon flz)= i i One of the following statement is false

(a) f has a honzontal a,symptote
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(b) f has a vertical asymptote. W )
the range of f is (—o0,00).
f has a removable discontinuity. =
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(i6) Let a, amd c be the sides of a triangle witha =b=1 aud the angle between
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Question 2 (20%) Answer by true or false
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1,>) 1. The function f(r) = 1 +sinz — 2 kas a root in the 111tema1 (0,7, Tt
: 9. A rationa} function can have an oblique and a horizontal asympta&‘gl: )
3. The function f(z) = 2° — 2%~ 1 has.a horizontal tangent at z = 2/3.0.000 )
4. The peried of the function tan(@@ is 7. (.. ‘: ..... )
5. If ll_l_a g{z) = o then & belongs to the domain of g. \4)
6. The domain of the function tan(wsinz) is (~00, 00). \\\F)
7. If f is differentiable &t z = ¢ then f 15 continuous at z = ¢. QHT_)
8. The range of the function sec(z) +1 i3 {2, 00). ~ (F’)
R 9. The function 222 has a removable discontinuity at o =0. . \(51_‘)

% 10. If y = sec?(f) then ¥/ (§) = 2V2. \\@F:)
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11. Sketch the graph of f(z).




. Question 4(14%) The two equal sides of an isosceles triallgléiéi’"’,"_f’-!:!..ﬂfﬁ C':J.;:)
- with fixed base b are decreasing at the rate of 3 cm/min. How fast is the srea
decreasing when the two equal sides are equal to the base.




